INTERMEDIATE EXAMINATION-2025
SeHITSUC URIETT—2025

( ANNUAL / @1fte )

Subject:-BIOLOGY (Elective)
fawg:—sig fagm (Ufew)

LSc. (Theory/AGI<I®)
el YT 1 70+20+6 = 96 v ®rs: 119
Total Questions: 70+20+6 = 96 Subject Code: 119
(@ ;3 'S 15 fie) (e 70 )
[Time : 3 Hours 15 Minutes] [Full Marks:70]

Instructions for the candidates:

1. g¥&rell OMR Sv—yaa Yv Y= 597 gieasl HHI# (10 3H P1) a9
fered |
Candidates must enter his/her Question Booklet Serial No. (10 Digits) in the
OMR Answer Sheet.

2. gl gerag s Il d &8 97V |/

Candidates are required to give their answers in their own words as far as
practicable.

3. FIfe T SIv &1/ 9% 3% §Y &% quiieE fldw #vd &

Figures in the right hand margin indicate full marks.
4. go] @l qrTgdE g & fory goEnRgl @l 15 [A9e BT Sad wHT fear

TIT 8/

15 minutes of extra time have been allotted for the candidates to read the

questions carefully.

5. I8 797 gheaar & @vsl 4 & - @Ue—3 v Gve—g
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This Question booklet divided into two sections, SECTION-A and SECTION-
B.
6. @re—37 7 70 FvglTe T & forTH & 6] 35 g @7 FAY &7 A 8/ 35 e

¥ 3iE)E BT TV G UV FoIH 35 T & FodIdbT BT Fedd 97 @& [or7 1 b [T
8/ §9%7 GV 37 @ oy GUcTel HVrd TF TY OMR SIv—9FE F QU TV wel [ddey
@I et /Bl JieT Y7 F TG BV [¥] H GBIV B FTgeav,/ Vel yarel,/ &S,/ TegT
37/& @I OMR STv—YFE H FIIT BN H77 & 3~ Y& GRTH STH1 &7/

In SECTION- A, there are 70 objective type questions, out of which any 35
questions are to be answered. If more than 35 questions are answered, then
only first 35 answers will be evaluated. Each question carries 1 mark. Darken
the circle with blue/ black ball pen against the correct option on OMR Answer
sheet provided to you. Do not use Whitener /Liquid/Blade/Nail etc. on OMR
Answer Sheet, otherwise the result will be invalid.

7. @US— § H 20 TGITIT Y97 &/ FAF & [0 2 i [FEIRT &1 o &
&7 10 7o @ GV &1 AT & §Vi# SANFT §9 &UE H 06 FH
STTIT To7 177 TV & gRAFE & fory 05 3F [T & o & [ 03
eIl & TV & 9T &/

In SECTION- B, there are 20 Short Answer Type Questions, Each question

carrying 2 marks, out of which any 10 questions are to be answered. Apart
from these, there are 06 Long Answer Type Questions, each carrying 5 marks,

out of which any 3 questions are to be answered.

8. [ gHIY P FATCIEH FYBNT BT FIIT QUTIT aroid &/

Use of any electronic appliances is strictly prohibited.

Page 2 of 28



Yus — 31/ SECTION-A

q%glr?-lbd U3 / Objective Type Questions

go7 Ge&gT 1 @ 70 dF & H57T & 6T =Y [y 79 73 & for7H & v wel
&/ 397 g7 g7 T3 W fAwey @ OMR ¥ gv fafeTd &Y 5 35 79
&7 IV T/ 35x1 =35

Questions Nos. 1 to 70 have four options, out of which only one is correct. You
have to mark your selected option on the OMR-sheet. Answer any 35 questions.

35x1=35
1. PrefRed & 9 B 5 BT @ Ry 22
» O ® (]
© <> ® O—O

Which of the following is the symbol for mating?

» O ® (]

© <> ® OO
2. Fe=ferRad & @9 1 HEHY f[deR 781 27
(A) ST RigH (B) g ey RigH
(C) TR RigH (D) WIS BICHRA
Which of the following is not a chromosol disorder?
(A) Down’s syndrome (B) Klinefelter’s syndrome
(C) Turner’s syndrome (D) Phenyl ketonuria
3. Frefalad o 9 b o= # Arer fayagmear ardl S 87?
(A) #I= (B) el
(C) wAfRgf (D) fdeeht
In which of the following females heterogamety is found?
(A) Humans (B) Birds
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(C) Honey bees (D) Cat
. fawgmmeh diell § i1 dAeror ek BT 8 S B8 ¢ |

(A) vt (B) 39Tl
(C) g ¥ (D) Uiy«
The trait which is expressed in heterozygous plants is known as .......
(A) Dominant (B) Recessive
(C) Codominant (D) Partially dominant
. ABO SR a1 & foy fdhds YR & SiHIergy 87
A) 3 (B) 2
€) 6 (D) 8
How many types of genotypes are there for ABO blood groups?
(A) 3 (B) 2
€ 6 (D) 8
. FrefoaRea 5 9 69 denfe 7 A= J g9m=T?
(A) wsa (B) cdide
(C) ¥e 3R a1 (D) AR
Which of the following scientists prepared recombination map?
(A) Mendel (B) Sturtevant
(C) Sutton and Boveri (D) Morgan
. UHHPR FHO AR & 3MER WR IR & DIH— b 4§ 4
gfauifed fbg 3?7
1. yurfaar
2. g fraE
3. @A ug B A |
(A) w1 (B) 1w 2
(C) 1Td2 (D) 1,219 3

Which laws of inheritance were propounded on basis of monohybrid?

1. Law of Dominance
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2. Law of Segregation

3. Law of independent assortment.

(A) Only 1 (B) Only 2
©) 1 and 2 (D) 1,2 and 3
8. IR TA T H P UTIol DT IURIT BT 87
(A) Ra=t (B) feeifriiRars
(C) TEam (D) Rygefrar
Which pentose sugar is present in RNA?
(A) Ribose (B) Deoxyribose
(C) Xylose (D) Ribulose

9. FrfalRed ¥ fH9 HRUEY SITAY. Feell & aHT U =Y[dadIcigs

ISo[dl & drE I {0 997 T 87

(A) IS UGFAIICISS SRIAT BT AR HIBT—ADHRT IT Bl
gl

(B) <M die=yfacracss Toud! # GEIRad draIRer gl 21

(C) THI Io9dl § 99 BISeIo dfe @ ARgH 9 Sile Od 8 Wi 9
R g1 B |

(D) DNA # =, ugdfe & faudid amar = |

Due to which of the following reasons there is approximately equal

distance maintained between two polynucleotide strands of DNA?

(A) Backbone of each polynucleotide chain is constituted by phosphate
sugar.

(B) Both polynucleotide strands have antiparallel polarity.

(C) The bases in the two strands are paired through hydrogen bonds
forming base pairs.

(D) In DNA purine comes opposite to pyrimidine.

10.fr=iforRad & | D A1 F@ | B ReRAT BT SR &1 &7

(A) SITAT & IE ooldl Th SR D T ¢ |
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(B) SLUAU. # ARHT G99 B |

(C) INTAL H TP Y[deicIss faey H US IqHT H
2—ETSSifaad g BT 2 |

(D) T H WIS & WIH R AAT BT 7 |

Which of the followings is not the reason for stability of DNA?

(A) Both strands of DNA are complementary to each other.

(B) Repair is possible in DNA.

(C) In DNA every nucleotide residue has 2’-hydroxyl group in the
pentose sugar.

(D) Thymine is present in place of uracil in DNA.
11.U% ey Adimiferd &3 § A= gonfodl & fder &R uhd Us fdg 9

Yo 3T J—HIferd &3 T& TRT B B e BB ¢ |
(A) TR (B) Wrpfcre = a=
(C) 3ol fafexo (D) S yarg

The process of evolution of different species in a given geographical area

starting from a point and radiating to other geographical areas is known

as.....
(A) Speciation (B) Natural selection
(C) Adaptive radiation (D) Gene flow

12.FfaRad § | B9 BT Sfae @I IURT & aR H 3R 87
(A) AR 3R B’ & FIAR Sllae Bl Ugell Wwy gd [IeM

Stia IfRd HTEfE Sl | T g &1 Wahd ¢ |

(B) Siled & IR & AHY argHed H g ATaAor T8l o |

(C) T o AT 45 fAferas af gd 797 ST 2

(D) TAER 71 U4 WANT # < Folep H SRS, A, BISgioi
3T derm 800° ¢ Ay R fagra fewarst &1 wanT faar |

Which of the following statements is false about the origin of life?

(A) According to Oparin and Haldane the first form of life would have
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come from pre-existing non-living organic molecules

(B) Free oxygen was not present in atmosphere at the time of origin of
life.

(C) Ifis supposed that earth was formed about 4.5 billion years back.

(D) In his experiment, Miller used oxygen, methane, hydrogen,
ammonia and electric discharge at 800°c temperature in a closed
flask.

13.fr=forad # & s gRT S T U forerdl daeiid &1 IRWD

faera far war ?

(A) T BT (B) e Rig

(C) dfcH wg foha (D) fom

The DNA finger printing technique was initially developed by who

among the following?

(A) Alec Jeffreys (B) Lalji Singh

(C) Watson and Crick (D) Crick
14.F=foRed 5 9 59 Wd R TATGRT A HhaluRT § Jedl 57

NERESIE (B) HATASD Wt

(C) =TS (D) y—si

At which of the following sites the repressor protein binds to lac operon?

(A) 1i-gene (B) Operator region
(C) Promoter (D) y-gene
15.fF=1faRaa /9 fovas ufRiffora &1 gftc us wIfRpeimedl derm g«rasmel!

TeleRfed & wU § fhar?

(A) 3Tve I 3R Bfae (B) 3Tciduier FolfHiT
TN
(C) TwHT (D) =9
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Who among the following confirmed penicillin as a powerful and

effective antibiotic?

(A)  Ernest chain and (B) Alexander Fleming
Howard Florey
(C) Waksman (D) Babes
16.f=frRad & & & ATsfed 3T ITET BT 87
(A) TRfEdRR T (B) TwERRTad AEoR
(C) dacrdfiea (D) AR ARfad

Which of the following produces citric acid?

(A) Acetobacter aceti (B) Aspergillus niger
(C) Lactobacillus (D) Saccharomyces cerevisiae
17.F=fRed @ 9 319 B ERIBEd & aN H Tad 87
(A) SABT SYANT AGH] (B) Iz UfRe MRS &
wpic @ forg far wU H PR PRAT B
ST & |
(C) IE LLIDhIHA gl (D) I8 U TATEH & |
I~ Bl & |
Which of the following statements is incorrect about streptokinase?
(A) Itis used as clot buster. (B) It functions as
immunosuppressant.
(C) Itis produced by (D) Itis an enzyme.
streptococcus.
18.f=forRad & & &I BU STsdhIsAl & aR § Toid 87°
(A) IE gRoolifad & © | (B) IE Hfhoiifad Siar]
gl
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(C) ¥8d UIey ToTdh Pl (D) T8/ Hol uRRefd o
ERICRICIESERERE H AR UTAT ST
RS T | =

Which of the following statements is incorrect about Trichoderma?

(A) Itis a free living (B) Itis a free living
fungus. bacterium.

(C) Itis effective biocontrol (D) Usually it is found in
agent of several plant the root ecosystem.
pathogen.

19.F/=11Rad § | DI Hadh DI ATSHRISST AT ©°

(A) T (B) grsehreHm

(C) e (D) UIRYeiH

Which of the following fungi terms mycorrhiza?

(A) Glomus (B) Trichoderma

(C) Yeast (D) Penicillium

20X URFEROT DI Wil e di?

(A) Rumms (B) faferaw &rd

(C) SRR (D) gl

Who discovered blood circulation?

(A) Hippocrates (B) William Harvey
(C) Landsteiner (D) Einthoven

21.fF=feRad & & I AT BT eRIsT b dR H I 27

(A) IT IJTEH % |

(B) ¥& 1% ERT Wi iR AT EIdh gRT fordm Srar & |
(C) 3o Hifha & Tl gRT e favam ST 2 |
(D) 39 BIp i BT ST B |

Which of the following statements is false about heroin?
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(A) Itis adepressant.
(B) It is taken by snorting or injection.
(C) Itis obtained by acetylation of morphine.
(D) Itis also called coke.
22 Hferic SR A Mdherg g IRTHRIT BT Yo & §RT GR—axISl ofdll

w

(A)  HereRm™ (B) dicae SR
(C) - Tasr IRl | (D) f A sl
REIGRY favreT

The spreading of cells from malignant tumors through blood to distance

sites 1s called .....

(A) Metastasis (B) Contact inhibition
(C) Transformation into (D) Uncontrolled cell
neoplastic cells division

23 f=ferRad § 9§ @9 $UF Ud @ dR H A &7
(A) IE UP AU AT & |
(B) IT A AT SBAEN a”RE & BRI BidT 2 |
(C) TIMSA A Ah¥d Td USH B I8V Ube B9 & ard g9
THIIORT 81T & |
(D) USH H AHAT AR H dI—IBIIRI Bl FAT H ITRIR BAI
Il © |

Which of the following statements is incorrect about AIDS?

(A) Itisaviral disease.
(B) Itis caused by the Human Immuno Deficiency virus.
(C) There is always a time lag between the infection and appearance of

AIDS system.

(D) In AIDS there is progressive decrease in the number of B-
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Lymphocytes in an infected person.

24 fFferRad ® & | o H -ATbToR &7 Ufisi & H1Y URERS
feham BIel &7

(A) ey FooT (B) urgA¥

(C) wWiAA® RABH 3T (D) fEdre aRIe™ 3T
In which of the following organs lymphocytes interact with antigens?
(A) Bone marrow (B) Thymus gland

(C) Primary Lymphoid (D) Secondary Lymphoid

organ organ
25.Fr=1ferRad 5 & I A1 Udh wufcRer 97 87?

(A) THEIgS SRS (B) CTREHES

(€) T=d (D) P

Which of the following is an auto immune disease?
(A) Rheumatoid arthritis (B) Typhoid
(C) AIDS (D) Cancer

26.5ERFAU & URMG &A1 & IR Al gRT WA DlaAReH ¥ [HE UHR
& mfoRferal @ geRaT 8l 8
(A) IgA B) IgM
© IgaG (D) IgE
Which type of antibodies are abundant in the colostrum secreted by the

mother during the early days of lactation?

(A) IgA (B) IgM
) Iga (D) IgE
27.Fr=feiRad 5 & i g TTerd 27
(A) 3riIfd® uferer — (B) THIRN — TRA
JerHisar feeifafea
(C) WIgRar — geriar (D) XTSERRA — =gAM-T
EREIRCIE

Page 11 of 28



Which of the following pairs is incorrect?

(A) Amebic dysentery — Entamoeba histolytica
(B) Ascariasis — Ascaris
(C) Filaria — Wuchereria bancrofti

(D) Rhino virus — Pneumonia

28.frHfIRad  CSWIRE & IR H BT HIF I 77
(A) I I gIRT BICT 2 |
(B) I8 WOR &I gfc FI died e | Bl © |
(C) 0 AW & W 3D T 2 |
(D) UG HHAY BT YHATT BIST 3 A Bl 2

Which of the following statements is incorrect about typhoid?

(A) Itis acaused by virus.
(B) The typhoid fever is confirmed by Widal test.
(C) Name of Mary Mallon is associated with it.

(D) Its infection starts in small intestine.

2.6 & Johal HH Bl FRIFT B arel A e S §RT heds
B 87

(A) S e [ T (B) o e [ U

(C) S @18 11 T (D) S %18 [ T q1 #1s 11 Ut

The proteins that cotton bollworms are encoded by which genes?

(A) GenecrylAc (B) Gene cry I Ab

(C) Genecry Il Ab (D) Gene cry I Ac and cry II ab
30.FrefRad ¥ 4 @ uRugs g § T8 8 87

(A) TUlU<SS %@l — A (B) UlcU<ISS %@l — B

(C) diduerss g@e — C (D) SHHEEhISS 99

Which of the following is absent in mature insulin?
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(A) Polypeptide chain — A (B) Polypeptide chain — B
(C) Polypeptide chain — C (D) Disulphide bond

31.f=feRed | @A |1 gfias ufieq oraRes e & Rigid &
3R 27?

(A) U AR (B) uferar

(C)  STegmNIAIITS! (D) amoTfaes fram
Which of the following is based on the principle of antigen-antibody
interaction?
(A) PCR (B) ELISA
(C) Ultrasonography (D) Molecular diagnosis

32T H MearsSTIgT SBITHIRIAT & HHAUT DI b+ o F=reriad H
A {59 qBAIed & TN BT 77

(A)  DICAES WEH BT STAN (B) 3. TH. U. 3fcRer™
(C) rgdf¥ed wuiaRor (D) A e

Which of the following techniques is used to prevent the infection of

Meloidogyne incognitia in tobacco?

(A) Use of insecticidal protein (B) RNA interference

(C) Genetic transformation (D) Gene therapy
33.7Mcs W9 H 3 faeie ¥ d9g 27

(A) e (B) fef — &

(C) faers —a (D) faer™= -1

Golden rice is rich in which vitamin?

(A) Vitamin—C (B) Vitamin—-D

(C) Vitamin—-K (D) Vitamin - A

34,519 98 HF G | Siar] A7 fawry fedt defid wafed # & a9
ITH! yg fbd qhild H B Aebdl ©7
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(A) ¥HE. (PSS TSHUTH) b
(B) uferr daAid
(C) UINSIR. §RT SHaT] A1 faw] & el el Bl Haed gRT
(D) THIMRITE.
When very few bacteria or viruses are present in an infected person,
which technique can be used to identify them?
(A) CT (Computed tomography) scan.
(B) ELISA technique
(C) Amplification of nucleic acid of bacteria or virus by PCR
(D) MRI
35929 GHINTSl SLUAE. & A1 fhe STar] & wiisifie & SuRT fdaar
o7?
(A) vERRRT Biell (B) EMifther
(C) THEEIRTH SHBRITH (D) STHIAT CTRHIRRIA

Plasmid of which bacterium was used for the construction of the first

recombinant DNA?

(A) Escherichia coli (B) Haemophilus

(C)  Agrobacterium tumefaciens (D)Salmonella typhimurium

36.19 BT Hagd & AT e b B B Togd gRT 8idl 87
(A) SITA. el (B) <& dfelmRe
(C) uftey dfeimet (D) SITAT SIS

Which enzyme links the gene to the vector?

(A) DNA polymerase (B) Taq polymerase

(C) Restriction polymerase (D) DNA ligase
37.fr=faRed § | o4 A1 yeH ufidds gegfderst 8?

(A) S®I. 3R I (B) fEs RI

(C) da1 (D) s T |
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Which of the following is the first restriction endonuclease?

(A) EcoRI (B) Hind II
(C) Sall (D) BamHI
38.971 UldeIhRNTT H, SLUA.U. s 398 9 59 Toldels & TR% S
g7
(A) A (B) TS
(C) fasfT +ft Telagl® ot 3R (D) fHdY Y Telagrs @ 3R 81

In get electrophoresis, DNA fragment move towards which of the

following electrodes?

(A) Cathode (B) Anode

(C) Towards any electrodes (D) Not towards any electrodes
39. FAT Harsd H frefaikad § 4 i fIRIvdr &1 ragdedr T8l &7

(A) dIHEE 31 AR (B) =I9 A9 fUga®

(C) I I

(D) THIM & A QT 9949 Yga Td dl SURITT

Which of the following features is not required in a cloning vector?

(A) Origin of replication (B)  Selectable marker

(C) Cloning sites

(D) Always presence of more than one selectable marker

40.FforRed @ & fhaeT JanT ST SIRIerell | difed SiF &I o S 4

fear Sirar 272

(A)  weadIRaA AR (B) gl arR™

(C) SiF I+ (D) SWad H |
Which of the following is utilised for the transfer of desirable gene into

animal cells?
(A) Agrobacterium tumefaciens (B) Retro virus
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(C) Gene gun (D) All of the above
41.SN4T9] BIRIGT H SLYAY. WG B & (¢ 5 T8 &1 IuINT b
ST 57

(A) el (B) ufdess

(C) digwTaTEH (D) FEEHS
Which enzyme is used to process a bacterial cell to obtain its DNA?
(A) Cellulase (B) Pectinase
(C) Lysozyme (D) Chitinase

42 vfcEe TRSfderdS @ dR H DI HUHF A 2°
(A) YEY TSgfderS (B) ufddy veIgfdeaat €.

T YHR & GollgH 2 | T, T B fA¥re weral
W PR B |
(C) ufdy JeI=yfaerist (D) wftEed JeIRyfdeis
faRme afergifae SITAY & YgEE &
3T IehHI BT TSI & | Ty SUaT Bl § |
Which statement is incorrect about restriction endonuclease?
(A) Restriction (B) Restriction
endonucleases are a type endonucleases cleave
of enzymes. DNA at specific sites
(C)Restriction endonuclease (D) Restriction
sequences in DNA endonuclease is used for
recognizes specific amplification of DNA.
palindromic
43. I AT UST BT T Bed & Sl o TSI+ H RS ©
(A) S yg=eIta (B) 3RITOHA
© g (D) g
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Which term is used to describe asexual reproduction that mimics sexual

reproduction?

(A) Parthenocarpy (B) Apomixis

(C) Dormancy (D) Polyembryony
44 f=foRed 5 & 59 o & e o g &1 i 781 57

(A) w9 (B) T

(C) 3R (D) THIeR

Thalamus does not play role in the development of which of the
following fruits?
(A) Apple (B) Strawberry
(C) Cashew (D) Tomato
45 FforRed @ 9 69 997 | Yoy g1 @8 9 faeraeld Yor gRT 6
SUANT AT ST 87
(A) e (B) el
(C) (D) ARIe
In which of the following seeds the developing embryo does not

completely consume the endosperm?

(A) Pea (B)  Groundnut
(C) Beana (D) Coconut
46.fF=falRad § & D9 A1 AT Tad 27
(A) IS — qoI (B) WheoM — U URAR
CARCIN R
(C) IHI — AH DI D (D) YUT &Y — 2 AT 3
Tl DIRTHT

Which of following pairs is incorrect?

(A) Zygote — Embryo (B)  Scutellum — Cotyledon

of grass family
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(C)  Yucca - species of a (D) Embryosac—2or3 -

moth celled
47 frfaRad § & fd STeflg Wiy § WRIATOT STl §RT H8) 8T 87
(A) wrsfger (B) SRRt
(C) dreR rsfbe (D) afereRan

In which Oof the following aquatic plants pollination does not occur

through water?

(A) Hydrilla (B) Zostera
(C) Water Hyacinth (D) Vallisneria

48.Y UTGY & Teb YW & URWIHUN BT §AN G4 & afddbril ddb bl

TRITAICRYT T HEATT 57

(A)  HSITAYSERET (B) SN

(©)  ¥ag (D) fwe
What is the transfer of the pollen grains from one flower to the stigma of

another follower of the same plant called?

(A) Geitonogamy (B) Xenogamy
(C) Autogamy (D) Fertilisation
49.fr=iforRad # 9 S A1 FUF A7 & g & IR H A6 3 |
(A) U I ET B e (B) I ®picH # B & |
Bl € |
(C) wpicH H 8W ¥ doig | (D) UX% gYUT H ST 250
qEU T AT ST quoT UTferebTy EIeil € |
g H Aeq A 2 |
Which of the following statements is the about humans testes.
(A) They are situated (B) They are present in
outside the abdominal scrotum.
cavity.
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(C) Being in the scrotum high.
helps in keeping the (D) Each testis has about
temperature of the testis 250 testicular lobules.

50.fr=ifeiRed & & o9 1 I Terd 27?

(A)
(B)
©
(D)

TR T DIRTBT—TIHSINIT

1ol PRt

e — sfearfel el @1 e s

ged o1 Ao — @ & ) fowrd) & ofd #

Which of following pairs is incorrect?

(A)
(B)
©
(D)

Male germ cells — Spermatogonia
Interstitial cell — Androgens
Fertilisation — Ampullary region of fallopian tube

Formation of heart — By the end of second trimester

51.fF=foRag & @ &9 A1 B9 98 87

(A)

(B)

©

(D)

YRRV — URIAS Yeh PIRTHIN — fgdiiad Yo BIRIei—

3[hTIgd — YhIY]

o o

I HE ek BIRIBIN — fgliad eh DIRTBIN —> YEHIGIT —>
PTG

EHTOgd — WIS g BIRN — fFdes gw st —

[P TILSTT—>RIPT]

SHIVd — YERIVSTH — IAHG P DIveg — fgdias g

PIRIBIY —TEhTI]

Which of following sequences is correct?

(A)

(B)

Spermatogonia — primary spermatocytes — secondary
spermatocytes — spermatids — spermatozoa
Primary spermatocytes — secondary spermatocytes —

spermatogonia — spermatids — spermatozoa
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(C) Spermatids — primary spermatocytes — secondary spermatocytes
— spermatogonia — spermatozoa
(D) Spermatids — spermatogonia — primary spermatocytes —
secondary spermatocytes — spermatozoa
52,921 ISIEH Ih AT HEalTdl &7
(A) 3Id =H (B) SireeE
(C) xunfgfa (D) W =D

c

What is the first menstrual cycle called?

(A) Menstrual cycle (B) Menarche

(C) Menopause (D) Estrous cycle
53.Fr=ferRad § 9 fhdaT yanT qor § 8 drel fAfr=T galie [der @l

SURIT T Tar e H B Sram 272

(A) 931 A (B) THIMRIMS.

(C) YLK, (D) vAfERRRN

Which of the following is used to detect the presence of various genetic
disorders in the embryo?
(A) C.T. Scan (B) MRI
(C) PCR (D) Amniocentesis
54 FrfaRad § | B9 I B SATETET 9 BT BRI el o7
(A) IR H a9 FRreae
(B) AIg FIR IR Ry Fge= # o+h
(C) S MY & AN &l =T H gl |
(D) ¥EE® SA4 drenfifear (TamR.al)

Which of the following is not a reason for increasing population of a

country?
(A) Arapid decline in death

rate
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(B) Decline in maternal
mortality and infant

mortality rate

(C) Increase in number of (D) Assisted reproductive
people in reproductive technologies (ART)
age.

55.Fr=feiRed 5 9 B9 A1 HHAT I FAIRT 57

(A) TTEHIBIZET (B) fefaan

(C) R (D) <TISHIES

Which of the following is infections is sexually transmitted?

(A) Trichophyton (B) Pneumonia

(C) Gonorrhea (D) Typhoid

56.fFrfRad § ¥ B A DI H ddd (H R TSl dal &7

(A) ™ (B) uel

(C) 3HD™T (D) X

Which of the following reproduces only once in its lifespan?

(A) Bamboo (B) Birds

(C) Guava (D) Monkeys
57.Fr=feRad | | & SARgforar # AFT®T o7 T & & forg wanT

fepar wrar?

(A) Udb UbR BT Ad (B) Wy

(C) credreH (D)  JRAaTIRE

Which of the following was used to control opuntia in Australia?

(A) Atype of moth (B) Gambusia

(C) Trichoderma (D) Baculovirus

58.frfaRad & | dF u=R9eToT @ qfAST T8 87

(A) ol WIFARY & forg (B) R&eR wHfe &1

AT BT BT =0T B
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(C) il &1 fafaerr (D) i Rer ol @
99T X9 H Heg I gforget &1 dgrET
BT &

Which of the following is not a role predation?

(A) acts as ‘conduits’ for (B) keeps prey population
energy transfer under control

(C) helps in maintaining (D) increases the intensity
species diversity of competition among

competing prey species

59.9% UshH Pl FAT HBA & [OTGH U Sl Bl JIaal §a™l Siifel Bl
SuRerfa # ae Il 87
(A) It (B) ORWE
(C) wRoNfaar (D) EUHIRT
What is the process called in which of the fitness of one species
decreases in the presence of another species?
(A) Competition (B) Predation
(C) Parasitism (D) Mutualism
60.FATST Sl Ud Tsl TAME & AR &l URWRS fhar g
[P IQTERTT &7
(A) TRWETT (B) HEU&HIRGT
(C) EMIfsTaT (D) ORSHfaar

The interaction between population of clown fish and sea anemone is an

example of which of the following?
(A) Predation (B) Mutualism

(C) Commensalism (D) Parasitism

61.3MS AT, (2004) & ATAR SI<I31 UG UTGUT I STl DI HE&AT ...,
(A) 15 fAfere 9 $B 1w (B) 27 fafere 4 $w 1w

(C) 7 fafera & o1fd® (D) 20 — 25 fAfer=
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The total number of animal and plant species according to IUCN (2024)
is

(A) Slightly more than 1.5 million (B) Slightly more than 2.7 million

(C) More than 7 million (D) 20 — 25 million
62. 2002 H Haq fderd W fOvg ReR A=Y sl gl o1?
A) Rarfs o¥=r (B) SirEFaE
(€) gdr® (D) uRs
Where was the world summit on sustainable development in 2002 held?
(A) Rio de Janeiro (B) Johannesburg
(C) New York (D) Paris

63.F=feiRad § 9 @I 1 g fafdgar & ARefor & forg Ush Haprvied |
ST TP ©7
(A) TSI A JIAHT | AR e o™
(B) uiRa= H Hamwll § 9= fHa
(C) WRETIT
(D) dicaiHd o™
Which of the following is a narrowly useful argument for conserving
biodiversity?
(A) countless direct economic benefit from nature
(B) major role in ecosystem
(C) pollination

(D) aesthetic pleasures

64.F=feiRad § | I ST JfficieT & dRU I« gs?

(A) Tieed TR (B) fafers woferdt

(C) ¥R A T (D) ufdved

Which of the following species became extinct due to over exploitation?
(A) Golden toad (B) Cichlid fishes
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(C) Steller’s sea cow (D) Abingdon
65.9Rd &I dRad S fafqear fean g2

(A) 2.4% (B) 8.1%
©) 22% (D) 16%
What is global species diversity of India?
(A) 2.4% (B) 8.1%
©) 22% (D) 16%
66.UPTRT HIGYUT & QR BT dd Bl IIGT & Pl T HEd 87
(A) SATEHAT (B) ddha UrAfHh
BAUTqhdl
(C) e W& IATEHA (D) fgfasd Scardar
What is the rate of production of organic matter during photosynthesis?
(A) Productivity (B) Gross primary
productivity

(C) Net primary productivity
(D) Secondary productivity
67.fFrfalRaa § & o 4 ufhar sroeEes ¥ e T8 2°

(A) "usq (B) fAetre

(C) Suad (D) gfAfthdee

Which of the following process is not involved in decomposition?

(A) Fragmentation (B) Leaching

(C) Anabolism (D) Humification
68. 4Tl TehTeT HYATOTcHS fAfhRor 1 fha=T Ui 80T xd 27

(A) 50% B) 2-10%

©) 10% (D) 50% ¥ =1

What percentage of photosynthetically active radiation do plants

capture?

(A) 50% (B) 2-10%
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(©) 10% (D) more than 50%
69.310%E e sfEen Fforaad § ¥ feaw gl 87

(A) UIY gRT B HIYUHEG Alhd [AfHI0T & Trgor |

(B) Hd PrElD uard

(C) fedirae A Wefl gRT SMERYf & 91

(D) WHERI Sidl gRT ABRYfT & d1G

The detritus food chain begins with which of the following?

(A) with capture of photosynthetically active radiation

(B) with dead organic matter

(C) after feeding by secondary carnivores

(D) after feeding by herbivores
70.Fr=feiRad | | B A1 HUF Feell' b dR H AT 57

(A) Afgems & fofy T4 FRES el

(B) IR wRITSA el

(C) B« H U&H IR of S areil el

(D) 21 feA @& AR o S arell Miferdt

Which of the following statements is false about ‘Saheli’?

(A) Contraceptive pill for females

(B) Nun steroidal

(C) “Once a weak’ pill

(D) pills taken continuously for 21 days
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Yuvs—d / SECTION-B
Y STRII U9 / Short Answer Type Question .

ge7 GE&qT 1 # 20 o7 FANT 8/ 1578 10 7% P TV & IAD & o772

s [ &1 10 x 2 = 20
Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions. Each
question carries 2 marks. 10x2 =20
1. afds Sud @1 €, I Pl Uy SId &€ 3R gIbT Hged RIT 87 2
What are sacred groves, where are they found and what is there
significance?
2. Sl & RIS @ T & | 2
Explain the pyramid of energy.
3. WEIYPINGT o1 8?7 T&TER0 & Tl IRAT o | 2
What is the mutualism? Explain with examples.
4. el srugs fraq @ g? 2

What is the competitive exclusion principle?

5. vfdEe TSIjfderst &1 1 BROT & BIdT 57 2

How is nomenclature of restriction endonucleases done?

6. JAIUATE FAET o 27? 2

What is downstream processing?

7. QMR R®T 5P 2
What are somaclones?

8. TQIERUT & AT RISVl Bl I DN | 2
Explain biopiracy with example.

9. UG T &7 2
What are flocks?

10.519 IR 9T & AR gGb Al DI &7 2

What is biofertilizer and what are its sources?
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11.BATATSSE T 87 2
What are cannabinoids?

12.afsha wfeRem @m 2 | 2

Define active immunity.

13.9%IU% JaTE T & | 2
What is founder effect?

14. 99T ST T 87 SeTeR < | 2
What are homologous organs? Give examples

15. Taayes Hgdsl <=’ /T ©? 2
What are ‘Expressed sequence Tags’?

16. DI &1 AT N | 2
Explain haemophilia.

17.9clell BIRMGIN 7 87 93] YHdT ford | 2
What are Sertoli cells? write down their roles.

18.3T_T & YfABIY T &2 2
What are roles of placenta?

19,31 Y= a1 27 U8 {6 Uiy |99g H BT 87 2
What is double fertilisation? in which plant group does it occur?

20. 90T T 2° I&TER S | 2

What is polyembryony? Give example.

¥us—d / SECTION- B
<" ST 9% / Short Answer Type Question .

e AT 21 W 26 A SR 2| fFBI 3 U9l & SR < | ISP & foIU 5
3 FiRT 2 | SR e ad 120 vl & B9 =RV |

3x5=15

Question Nos. 21 to 26 are Short Answer Type. Answer any 10 questions. Each
question carries 5 marks. Give your answer in about 120 words. 3 X5 =15
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2 1. ORISR FIT 28?2 WON & fJhRT T 9oi9 &Y | 5

What is megasporogenesis? describe the development of megaspore.

22 fferRad W wfere fewfort ford 5
Write short notes on the following :

23.€1UA.Q. UfIpid BT quid BN | GOIgHl Bl YADBT BT o B | 5
Describe DNA replication. Describe roles of enzymes.

24 freferiad uR wfere fewfort ford | 5
Write short notes on the following :

25.3XR BT YiARET JoTedl BT goid &N | 5

Describe immune system of body.
26.39—IC, RV DI URANT B | 37—, TREVT & oy T fhar T2
2° 5

Define in situ conservation. What has been done for in situ conservation?
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